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200 M2l
2t 230 NILAHFMM - 2=
& 231 A3 (e &J)
-85 Ol &F of N3 A Hns2
ES Al 14,713,146 8,490,183 6,222,963
200 Mi2l+=¢ 4,466,000 4,437,510 28,490
230 NZSEEMM - S0t3 3,364,450 3,335,960 28,490
231 WA= 97,400 75,600 21,800
231-01 &= 97,400 75,600 21,800
<USHHIL > 21,800 0 21,800
O2AY a3 21,800,000& 21,800 0 21,800
234 MEN=Z 2,827,050 2,820,360 6,690
23402 JIEtHERZ 2,827,050 2,820,360 6,690
< SHFL > 1,792,650 1,785,960 6,690
O2+At8Y MEE 6,690,000& 6,690 0 6,690
50 2x£3 3,248,202 0 3,248,202
510 = 1EX3S 1,077,288 0 1,077,288
5N =2108X3S 1,077,288 0 1,077,288
511-01 2 NEXZ 8,288 0 8,288
<WSHFL > 8,288 0 8,283
02023 N8 2MHSG K&lgre X 8,288,000& 8,288 0 8,283
511-03 12 1,089,000 0 1,069,000
<wS:HAY > 1,089,000 0 1,069,000
OZZNHEZAl SHMA(ESZE SHFIE =IHE
? x4) 1,069,000,000& 1,069,000 0 1,069,000
520 Al - SHIEZX 2SS 2,170,914 0 2,170,914
521 Al - SHIBEXZS 2,170,914 0 2,170,914
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<uwS#HEL > 2,170,914 0 2,170,914
02023 N8 2HEHG KHElge X 18,814,000& 18,814 0 18,814
02023 DX 2HHG A&t e LM X2
900,000& 900 0 900
OLNE2NA X012 ZEEX X XN
12,000,000 12,000 0 12,000
SZA HAZFE BIS AHSY 30,000,000& 30,000 0 30,000
OSZAl L HASLE BIT X At
30,000,000& 30,000 0 30,000
OSZAl L3 HASZZE ST Al &XI
80,000,000& 80,000 0 80,000
OSIZAl &5, A8s ANEE &2& &1
200,000,000& 200,000 0 200,000
OSZAl &5, &ets, 22 HAZEHHHD] Al
o AX 100,000,000& 100,000 0 100,000
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